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Actual exam question from Juniper's JNO-104
Question #: 1

Topic # 1

[All JNO-104 Questions]

In the show | compare rollback 49 command, what is the purpose of the | ?

A. The | is used to represent an "either or" statement
B. The | is a shortcut to redirect output from a command line to a file
C. The | filters the output of the show command T

D. The | changes the command from an operational command to a configuration mode command
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Actual exam question from Juniper's JNO-104
Question #: 2

Topic # 1

[All JNO-104 Questions]

What are two benefits of @ modular operating system? (Choose two.)

A. Each module runs in its own protected memaory space
B. It enables the independent restart of each module as necessary

C. A malfunction in one module causes a full system shutdown

D. It enables CPU scheduling strictly using kernel system calls
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Actual exam question from Juniper's JN0-104
Question #: 3

Topic #: 1

[All JNO-104 Questions]

userfiraucer> ahow nterfaces ge-0/0/0 extensive
Phyaica’. interface: ge-0/0/0, Enacled, Physical link is Down
Inzerfaca index: 137, SNMPF ifIrdex: 508, Seraratior: 140
Link-level tyre: EZthermer, MIU: 1514, LAN-PHY mode, lirk-made: Full-duplex,
Speed: 1l0Gbps, BPDU Error: None, Laoop Detact PDU Errer: Nona,

Frtharnect-Switching Errar: Ncra, MAZ-RPNRITE Frrar: None, lLaspkack! Disablied

m
Q.

Source £ilTering: Disabled, Flow contrsl: Enabl
Cevice £lags : Prasent Running

Interface Ziags: SNMP-Traps Interral: Ox4000

Link flagas + None

Co8 queues : 8 supported, £ maximunr usakle queues

Eold-times t Up 0 ~s, Zown 0 ms

Currant adaress: (00:50:5€6:a8:03:76, Harcware azcress: 00:50:56:a9:03:7¢

Laat flapred : 2021-04-0€ 04:56:12 PDT (1d 07:12 ago)
Sratiatica _aat cleared: Neaver

Traffic asratiarica:

Referring to the exhibit, you are unable to see any traffic coming on interface ge-0/0/0. What is causing this problem?

A. The ge-0/0/0 interface is administratively down
B. The ge-0/0/0 interface has flow control disabled
C. The ge-0/0/0 interface s physical link is down

D. The ge-0/0/0 interface has the link-mode set to half-duplex
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Actual exam question from Juniper's JNO-104
Question #: 4

Topic # 1

[All JNO-104 Questions]

Which command should you use to check real-time statistics of all active interfaces?

A. user@router> monitor interface traffic
B. user@router> show interface detail

C. user@router> show interface terse

D. user@router= monitor traffic extensive

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 5

Topic # 1

[All JNO-104 Questions]

user@router> show interfaces | no-more
What happens when you filter the output of a command using the no-more parameter?

A. The output is displayed in XML format
B. The output is displayed with no page breaks
C. The last screen of information is displayed

D. The number of lines in the output are displayed
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Actual exam question from Juniper's JN0-104
Question #: 6
Topic #: 1

[All JNO-104 Questions]

You loaded the factory-default configuration on your Junos device. Which single element must be configured before a commit command will succeed?

A. An IPv4 address must be configured on the fxp0 or em0 interface
B. A hostname must be configured

C. A root password must be configured

D. An IPv4 default route must be configured

Show Suggested Answer
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Actual exam question from Juniper's JN0-104
Question #: 7
Topic #: 1

[All JNO-104 Questions]

Which two statements descnbe the functions of the Routing Engine (RE)? (Choose two.)

A. The RE will apply filters and routing policies when forwarding the packets to their final destination
B. The RE will route or switch packets or frames out of the correct interface as quickly as possible

C. The RE will calculate the best network path to each individual subnet based on input from vanous routing protocols and static routes

D. The RE will process management traffic to help monitor and manage the network devic
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Actual exam question from Juniper's JN0-104
Question #: 8
Topic #: 1

[All JNO-104 Questions]

usar@rauter> show 23r= neLgrLar

Addreas InterZace S-ate D Pri1 Dead
112.25.1.9 ge-0/0/1.0 Fall 192.168.100.3 128 38
TT2 .29 a2 qa-C’DKZ.O Fals 192.165.100.2 12z 35

Which two statements about the output shown in the exhibit are correct? (Choose two.)

A. The router ID of the neighbor connected to the ge-0/0/1.0 interface is 192.168.100.3
B. The router has two OSPF adjacencies
C. The neighbors are not using the Junos OS default OSPF priority value

D. The IP address assigned to the router's ge-0/0/1.0 interface is 172.25.1.9

Show Suggested Answer
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Actual exam question from Juniper's JN0-104
Question #: 9
Topic #: 1

[All JNO-104 Questions]

user@rsuter> show chasaia rauting-engine
Rouring Ingina satatus:

Total memory 4046 MB Max 20&3 MB used ( 51 pexrcant)
coantrscl pirane Temory 1742 MB Max 5892 M3 uaed ( 34 paxcant)
Da<a rplane mam-x 2309 MB Mayw 1452 M8 uased ( €3 pexcent)
5 sac CPU utilizaz=ion:
User 1 percentc
Background 0 percantc
Kernel 0 percert
Interrupt 0 percert
Idle 99 percent
Model VERX RE
Start time 2021-07-11 23:45:17 PDY
Uptime 35S daya, 12 houra, 2% minutea, 25 seconds
Laat rerLoot reaanon Rocuter repcoted afrer a narmal shutdown.
~cad averages: 1 minute 5 minute 15 minurte

1.22 s B ) 1.41

Referring to the exhibit, which two statements are correct? (Choose two.)

A. The last 5 second CPU utilization is 1%
B. The last 5 second CPU utilization is 99%
C. The control plane memory used is 63%

D. The data plane memory used is 63%

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 10

Topic # 1

[All JNO-104 Questions]

Which two operating systems are used as the foundation of the Junos 0S? (Choose two.)

A. Linux
B. Ubuntu
C. Cent0S

D. FreeBSD
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Actual exam question from Juniper's JNO-104
Question #: 11

Topic # 1

[All JNO-104 Questions]

You enable unicast reverse path forwarding on the ge-0/0/1.0 interface A packet is received on the ge-0/0/1.0 interface with a source address of 10.10.10.10. A route
lookup determines that the next hop for the 10.10.10.10 address is the ge-0/0/1.0 interface. In this scenario which action is performed?

A. The packet is logged
B. The packet is forwarded
C. The packet is rejected

D. The packet is discarded
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Actual exam question from Juniper's JNO-104
Question #: 12

Topic # 1

[All JNO-104 Questions]

[edit]
user@router#
In which mode is the system currently operating, as shown in the exhibit?

A operational mode
B. UNIX shell
C. configuration mode

D. single-user mode
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Actual exam question from Juniper's JNO-104
Question #: 13

Topic # 1

[All JNO-104 Questions]

Which attribute must be defined when configunng a non-root user in Junos 0S?

A. class
B. uid

C. authentication

D. full-name

Show Suggested Answer
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Actual exam question from Juniper's JN0-104
Question #: 14
Topic #: 1

[All JNO-104 Questions]

You are asked to enable the configuration archival feature on your device running Junos 05. Which two backup scenarios exist? (Choose two.)

A. When a user performs a commit operation
B. When a user logs in to the device

C. When a specific time interval passes

D. When a user logs out of the device

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 15

Topic # 1

[All JNO-104 Questions]

nsarfirautar> ahow —ntarfaces Expl
Fhyaical nterxface: fxp-, Erakled, Physical link ia Up
Inrarface indax: B, SNMP ifindax: 1
Tyre: Zthernet, Link-level tyre: Ethevnet, MTU: 1514, Speed: 10J0mbps
Levice £lags t Preasant Running
Inrarface £laga: SNMP-Trapas
Link type : Full-Duplex
currant address: Q00:50:5€:a9:1c:b0, Harcware addreas: [00:50:56:249:1c:bl
Last flapped : 2020=-01-17 16:27:10 UTC (lw3d 23:5¢ ago)
Input packetrs : 354054
cutput packeta: 30089
logical interxface £xp5.0 (Indax 5) (SNM? ZfIndex 13)
rlags: Up SNMP-Traps Ercapsulatiasn: ENEZ2
Input packets : 54054
Cutput packerta: 30085
Fratacal iner, MTU: 1500
Vax nh cache: 100000, New hald nh limit: 100000, Zurr nh ent: 1,
Curr new hald ent: 0, NH drop cnt: 0
Flags: Sencbcast-pkt-to-re, Zs-Primaxy
Addresses, Fiags: Is-Default Is-Freferred Is-Prirmary
Deatination: 172.25.11/24, Local: 172.25.11.1, Broadcast: 172.25.131.2%55
Referring to the exhibit, which two statements are true? (Choose two.)

A. The interface is operating in full-duplex mode

B. The logical interface is running IPv6

C. The address 172.25.11.255 is the broadcast address for the logical interface
D. The interface MAC address has been changed from the default MAC addres
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Actual exam question from Juniper's JN0-104
Question #: 16
Topic #: 1

[All JNO-104 Questions]

Your Junos OS routers use a static route to provide connectivity to the management network. You do not want this static route to be redistributed using a dynamic
routing protocol In this scenario, which static route configuration parameter will accomplish this task?

A. no-readvertise
B. no-rerain
C. no-install

D. no-resoly

Show Suggested Answer
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Actual exam question from Juniper's JN0-104
Question #: 17
Topic #: 1

[All JNO-104 Questions]

You are troubleshooting a problem on your Junos device. You want to view the syslog messages in real-time on your terminal. In this scenario, which command will
accomplish this task?

A. monitor log messages
B. show log traceoptions
C. show log messages

D. monitor start message

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 18

Topic # 1

[All JNO-104 Questions]

T]
rroutari show system serv.ces

root=-iogin deny;

wab—manage:a#t

http;

The user root is unable to connect to the router using SSH. Referring to the exhibit, which configuration change will correct the problem?

A. [edit] user@router# delete system services ssh root-login deny
B. [edit] user@router# set system services ssh root-login allow
C. [edit] user@router# set system services ssh

D. [edit] user@router# delete system services ssh

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 19

Topic # 1

[All JNO-104 Questions]

[ediz firewall fam-iy Znec)
userfirautext ahow
€:lver =raffic-filter
—erm a’ l-w-packets
from
ssurce-addreas {
10.10.10.0/24;

[edit interfaces ge-0/0/1]
usarf@routerd show
unit 0 {
family inet
filtex
input traffiec-filter;
}
address 172.19.20.2/30;

Referring to the exhibit, a firewall filter is configured and applied to the ge-0/0/1 interface. In this scenario, which statement is correct?

A. All traffic to destination 10.10.10.0/24 is accepted.
B. All traffic from source 10.10.10.0/24 is accepted.
C. All traffic entering on interface ge-0/0/1 is discarded.

D. All traffic entering on interface ge-0/0/1 is accepted.
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Actual exam question from Juniper's JN0-104
Question #: 20
Topic #: 1

[All JNO-104 Questions]

r
vaer@rau=arf ed:ir area 51 s=ub
[edit protocols ~spf area 0.0.0.51 stub]
vnaarfroucert exic

Referring to the exhibit, what happens when you issue the exit command at the [edit protocols ospf area 0.0.0.51 stub] hierarchy level?

A. You move one level up to the [edit protocols ospf area 0.0.0.51] hierarchy level.
B. You exit the configuration mode.
C. You move to the [edit] hierarchy level.

D. You move to the most recent higher level of the [edit protocols ospf] hierarchy.

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 21

Topic # 1

[All JNO-104 Questions]

usargroutaer> show canfiguratisr interZaces ge-2/0/1.0

Zamily inet |
fet=ne |
Anyiis chputsfTs

addreas 10,.10.102.1/24;

uaar@raucar> ahow cgnfigu:aticn firawa'l filter ihput-ff
re=ect;

Referring to the exhibit, which statement is correct about traffic received on the ge-0/0/1.0 interface?

A. Al traffic will be accepted
B. All traffic will be silently dropped
C. All traffic will be dropped and an ICMP notification sent back to the source

D. All traffic will be dropped and a UDP message sent back to the source

Show Suggested Answer
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Actual exam question from Juniper's JN0-104
Question #: 22
Topic #: 1

[All JNO-104 Questions]

usezfroutert ~un show rouse 100.0.0.0/30

inec.0: 16 destinationa, 18 r~utes (1€ aczive, { krolddown, 0 =nidden)

= = Aerive Roura, = = lLas= Letioa, * = Bazh
100.0.0.1/32 *[Local/0] 1wld 22:10:15

> Lacal via we—-3/0/0:0.0
100.0.0.0/30 = [Direct/0] 1wld 22:10:15

> via wa-3/0/0:0.0
usarfrautarg run moritor =raffiec interface %e-3/0/0:0 no-resslve matching "are 100.0.0.2"
varocae Sutput auppresass, uae <Hdgrall> ar <extanaiva> far 111 protocaol decoZe
addreas reaslurtion i1a OFP.

Lisrening or xe-3/0/0:0.0, capture size 96 by=ea
~

X

(

0 packers recelived by filtar

0 packeta droppecs by kernel

You are attempting to capture traffic being sent to IP address 100.0.0.2. but are unable to see any packets. Referring to the exhibit, what is the problem?

A. You must add the size parameter to the command
B. Traffic destined for 100.0.0.2 is transit traffic
C. You must add the layerZ-headers parameter to the command

D. You must use the dat 100.0.0.2 match condition instead of the arc 100.0.2.2 match condition

Show Suggested Answer
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Actual exam question from Juniper's JN0-104
Question #: 23
Topic #: 1

[All JMO-104 Questions]

Which two routing policy actions are considered policy flow control actions in the Junos 0S? (Choose two.)

A. next hop
B. next policy

C. accept

D. next term

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 24

Topic # 1

[All JNO-104 Questions]

What is the network address for a host with an |P address of 192.168.87.125/167

A.192.168.96.0
B.192.168.870
C.192.168.128.0

D.192.168.0.0

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 25

Topic # 1

[All JNO-104 Questions]

After logging in as root you enter the cli command. What does this command do?

A. It enables you to enter line edit mode
B. It enables you to enter configuration mode

C. It enables you to enter operational mode

D. It enables you to enter interface mode

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 26

Topic # 1

[All JNO-104 Questions]

A router contains both a static route and an OSPF route for the 172.18.100.0/24 prefix in its routing table. The router is configured to use the factory-default Junos
0S routing preference values. In this scenario, which statement is correct?

A. The OSPF route will be active because of a lower default preference value
B. The OSPF route will be active because of a higher default preference value
C. The static route will be active because of a lower default preference value

D. The static route will be active because of a higher default preference value

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 27

Topic # 1

[All JNO-104 Questions]

What will the help syslog UI_DBASE_LOGOUT _EVENT command show you?

A. It will show you the options you can use with sysiog UI_DBASE_LOGOUT _EVENT
B. It will show you only UI_DBASE_LOGOUT _EVENT messages in the system log
C. It will only show you syslog messages without UI_DBASE_LOGOUT_EVENT

D. It will describe the UI_DBASE_LOGOUT_EVENT message code

Show Suggested Answer
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Actual exam question from Juniper's JN0-104
Question #: 28
Topic #: 1

[All JMO-104 Questions]

Which Junos 0S5 routing instance type is used for non-VPN-related applications such as system virtualization?

A. virtual-router
B. vpls
C.vrf

D. forwarding

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 29

Topic # 1

[All JNO-104 Questions]

What are two functions of the transport layer? (Choose two.)

A. data integrity
B. packet forwarding

C. flow control

D. segmentation

Show Suggested Answer
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Actual exam question from Juniper's JN0-104
Question #: 30
Topic #: 1

[All JNO-104 Questions]

(edit routing-optiona]
userfrouzerf show
—atic {
»oute 0.0.0.0
next-hop 172.Y6.1.1;
qualified-nex=-hop 172.16.1.234 |

rreference 4;

Assuming both paths shown in the exhibit are available, which statement is correct?

A. Traffic matching the default route will use 172.16.1.1 as the next hop
B. Traffic matching the default route will use 172.16.1.254 as the next hop
C. Traffic matching the default route will be load-balanced per flow across both next hops

D. Traffic matching the default route will be load-balanced per packet across both next hops.

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 31

Topic # 1

[All JNO-104 Questions]

What information is provided by the help topic interface ? command?

A. It displays the best options to use with the interface command regarding your current configuration
B. It displays the available options and a brief description of usage guidelines

C. It displays the administration manual for the interface command

D. It displays usage examples for the top-ten interface commands

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 32

Topic # 1

[All JNO-104 Questions]

When you choose to read your e-mail using an e-mail client, your e-mail client interacts with which 0S| layer?

A. session
B. transport

C. application

D. presentation

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 33

Topic # 1

[All JNO-104 Questions]

(edit grzups]
userf@rousert show

ge-int {

interZaces
cge=3/*>
unit 0 {
family inet{
}

What will happen when you commit the configuration shown in the exhibit?

A. All gigabit interfaces will inhent the family inet configuration

B. Gigabit interfaces on FPC 2 will inherit the family inet configuration
C. VLAN 0 will be applied to gigabit interfaces on FPC 2

D. VLAN 0 will be applied to all gigabit interfaces

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 34

Topic # 1

[All JNO-104 Questions]

Which two statements about firewall filters are correct? (Choose two.)

A. An input filter is used to control routes that are accepted by the local routing table
B. An output filter determines the routes in the local routing table that are advertised to peers

C. An input filter is used to control incoming traffic on a specific interface

D. An output filter is used to control outgoing traffic on a specific interface

Show Suggested Answer
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Actual exam question from Juniper's JN0-104
Question #: 35
Topic #: 1

[All JNO-104 Questions]
Which three benefits are made possible by the separation of the control plane and forwarding plane of a Junos device? (Choose three.)

A. stateful firewall

B. deep packet inspection

C. in-service software upgrades

D. graceful Routing Engine switchover

E. nonstop active routing

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 36

Topic # 1

[All JNO-104 Questions]

Which statement regarding transit traffic processing is correct?

A. Transit traffic is only processed by the forwarding plane.
B. Transit traffic is processed by both the control plane and forwarding plane.

C. Transit traffic is not processed by the local device.

D. Transit traffic Is only processed by the control plane.

Show Suggested Answer
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Actual exam question from Juniper's JN0-104
Question #: 37
Topic #: 1

[All JNO-104 Questions]

I
ct

[ed]
user@router# show system authentication-order
authentication-order [ radius tacplus ];

Referring to the exhibit, which statement is correct?

A. The device will attempt to authenticate using the local database if RADIUS and TACACS+ are unresponsive.
B. The device will randomly select the authentication method used for each new login attempt.
C. The device will attempt to authenticate using RADIUS and TACACS+ at the same time.

D. The device will never attempt to authenticate using the local database.

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 38

Topic # 1

[All JNO-104 Questions]

[edit policy-option
1ser@router# show
poli y-statement BGP-to-0SPF |
term 10
from protocol bgp:

You must apply the policy shown in the exhibit to readvertise BGP routes to OSPF neighbors. Which action will accomplish this task?

A. You must apply the policy as an export policy within the 0SPF configuration.
B. You must apply the policy as an export policy within the BGP configuration.
C. You must apply the policy as an import policy within the OSPF configuration.

D. You must apply the policy as an import policy within the BGP configuration.

Show Suggested Answer
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Question #: 39
Topic #: 1

[All JNO-104 Questions]

Which two statements about login classes are correct? (Choose two.)

A. Login class permissions can be overridden for certain commands.
B. Login classes define access privileges for a user.

C. There are no system-defined login classes.

D. Users can be members of multiple login classes.

Show Suggested Answer
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Actual exam question from Juniper's JNO-104
Question #: 40

Topic # 1

[All JNO-104 Questions]

Which two statements about exception traffic processing are correct? (Choose two.)

A. By default, a rate-limiter for exception traffic exists on the internal link between the control plane and the forwarding plane.
B. By default, no rate-limiter for exception traffic exists on the internal link between the control plane and the forwarding plane.

C. When congestion occurs, local and control traffic are given preference.

D. When congestion occurs, only exception traffic is given preference.

Show Suggested Answer
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Actual exam question from Juniper's JN0-104
Question #: 41
Topic #: 1

[All JNO-104 Questions]

user@router> traceroute 10.1.15.2

traceroute to 10.1.1 B §10«3 1980 I ps max, 40 byte packets
1 | 1.36:1 (10.8:30:1) .651n 7.882ms 0.568m

2 M duds.3 [N . 7S 1) éms 0.8ms 0.eéms

b |

E 4 v Ir

Referring to the exhibit, which statement is correct?

A. The packets have exceeded the time-to-live value.

B. There is a routing loop.
C. The asterisks indicate a response time out.

D. The asterisks indicate the trace route Is complete -
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Actual exam question from Juniper's JNO-104
Question #: 42

Topic # 1

[All JNO-104 Questions]

Which component is responsible for performing protocol updates and system management?

A. Packet Forwarding Engine
B. bridging table

C. forwarding tables

D. Routing Engine
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Actual exam question from Juniper's JNO-104
Question #: 43

Topic # 1

[All JNO-104 Questions]

edit
1ser@router# show policy-options
policy-statement block-route
term 1 {

oute-filter 10.10.10.0/24 <match type>;

You are creating a new routing policy on your Junos device. You are currently receiving multiple routes within the 10.10.10.0/24 subnet from the same upstream

BGP neighbor. Your policy should only allow the 10.10.10.0/24 route and reject all other routes within that /24 range. Referring to the exhibit, which route filter match type
would satisfy this requirement?

A orlonger
B. longer
C. exact

D. prefix-length-range /24-/32
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Actual exam question from Juniper's JN0-104
Question #: 44
Topic #: 1

[All JMO-104 Questions]

Which default login class should you select if you want the user to edit configuration files?

A. super-user
B. read-only

C. operator

D. unauthorized
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Actual exam question from Juniper's JN0-104
Question #: 45
Topic #: 1

[All JNO-104 Questions]

1ser@router# edit ge-0/0/0 unit 0 family inet
[edit interfaces ge-0/0/ nit 0 family inet]
1ser@router# exit

A user has entered the sequence of commands shown in the exhibit. At which level of the configuration hierarchy would the user be after typing the exit command?

A. [edit]
B. [edit interfaces ge-0/0/0]
C. [edit interfaces ge-0/0/0 unit 0]

D. [edit interfaces]
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Actual exam question from Juniper's JN0-104
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[All JNO-104 Questions]

Which step is required when performing a Junos software upgrade?

A. You must create a user account named maintenance-user.
B. You must reboot the device.

C. You must load the factory default configuration.

D. You must zerpize the device.
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Actual exam question from Juniper's JNO-104
Question #: 47

Topic # 1

[All JNO-104 Questions]

address 10.1 1/24;

address 10.20.0.1/24 {
preferred;

!

address 10.3 A2 1
orimary;

}

address 10.40.0.1/24 {

Referring to the exhibit, what will be the source address for packets egressing et-0/0/34.07

A.10.20.01
B.10.30.0.1
C.10.10.01
D.10.40.0.1
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Actual exam question from Juniper's JN0-104
Question #: 48
Topic #: 1

[All JNO-104 Questions]

Which two statements about routing policies are correct? (Choose two.)

A. An import policy is used to control incoming traffic on a specific interface.
B. An export policy is used to control outgoing traffic on a specific interface.

C. An export policy determines the routes in the local routing table that are advertised to peers.

D. An import policy is used to control routes that are accepted by the local routing table.
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Actual exam question from Juniper's JN0-104
Question #: 49
Topic #: 1

[All JNO-104 Questions]

You must verify that interface ge-0/0/0.0 is administratively up and that the link is up. In this scenario, which command will accomplish this task?

A. snow configuration interfaces ge-0/0/0.0
B. show system information

C. show interfaces terse

D. show chassis fpc pic-status
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Actual exam question from Juniper's JN0-104
Question #: 50
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[All JNO-104 Questions]

nser@router> show interfaces terse

Interface Admin Link Protc Local Remote

je-0/0/ up L]

ge-0/0/0.0 up I inet 172.18.36.172%

ge-0/0/1 up I

ge-0/0/1.0 up I ineto fd73:5d2a:£f03b:15e0::1/64
fe80::217:cbff:fede:a281/04

ge-0/0/2 up I

ge-0/0/2.0 lown uj inet L12.18.25.174¢

je-0/0/2.1 low!l I inet 10.0.C 1.10/24

ge- £ 252 down uj inet 192.168.1.1/24

Referring to the exhibit, you are unable to reach devices in the 172.19.25.0/28 subnet.What should you do to solve this problem?

A. Enable the ge-0/0/2.1 interface.
B. Enable the ge-0/0/2 interface.

C. Enable the ge-0/0/2.2 interface.
D. Enable the ge-0/0/2.0 interface.
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Actual exam question from Juniper's JN0-104
Question #: 52
Topic #: 1

[All JNO-104 Questions]

You are connecting to a new device in your network and are presented with the information and prompt shown in the exhibit. Which three steps must be carried out
to edit the configuration on this device? (Choose three.)

A. Type cli at the % prompt.

B. Log in using the root user with no password.

C. Log in using the root user with the root123 password.
D. Type configure at the = prompt.

E. Type cli at the > prompt.
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[All JNO-104 Questions]

edit routing-options]

o e e
nserf@routeréd show

static {

qualified-next-hop 10.10.11.2 ({

'
route 0.0.0,.0/0 In:-‘:lt—ha_} | 10.20.4;
route 192.168.77.0/25 next-hop 10.10.0.2;

Referring to the exhibit, if the router forwards traffic destined for 192.168.77.29, which next hop will be used?

A.10.101.2
B.10.10.20.2
€.10.10.0.2
D.10.10.11.2
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[All JNO-104 Questions]

2021-08-16 23:45:17 UTC Minor Rescue configuration is not set

Which command will solve the problem shown in the exhibit?
A

- [ - _- - - — o mm mm — = T —— - -
user@router# copy current /config/rescue.cont

'l o e N =T tbT=-0 =, =L X = = Tk =L 2 - A T otk = — A =
useridroutersy request system conriguration rescue commilit

outer> file copy current /config/rescue.conf

T
H
o
=

m configuration rescue save

F"r
i
r—d
=
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pr
D
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H
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~
]
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Actual exam question from Juniper's JN0-104
Question #: 55
Topic #: 1

[All JNO-104 Questions]

Which protocol is responsible for learning an IPv6 neighbor's MAC address?

A. Address Resolution Protocol (ARP)
B. Media Access Control Security (MACsec)
C. Neighbor Discovery Protocol (NDP)

D. Network Address Translation (NAT)

Show Suggested Answer




EXAMTOPICS PRO POPULAR EXAMS VIEW ALL EXAMS DOWNLOAD FREE COURSES CONTACT FORUM

Actual exam question from Juniper's JN0-104
Question #: 56
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[All JMO-104 Questions]

By default, which Junos directory contains the primary sysloqg file?

A. /var/log
B. /var/syslog

C. /var/tmp

D. /var/home
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Actual exam question from Juniper's JN0-104
Question #: 57
Topic #: 1

[All JNO-104 Questions]

What are two important steps when upgrading an SRX300 Series device? (Choose two.)

A. Clear all alarms.
B. Verify that enough space exists to upload the software package.

C. Verify that the NETCONF protocol is enabled.

D. Reboot the device.

Show Suggested Answer




EXAMTOPICS PRO POPULAR EXAMS VIEW ALL EXAMS DOWNLOAD FREE COURSES CONTACT FORUM Q

Actual exam question from Juniper's JNO-104
Question #: 58

Topic # 1

[All JNO-104 Questions]

Which statement about the Junos OS forwarding table is correct?

A. The forwarding table is responsible for identifying and selecting active routes.
B. The forwarding table is only stored on the Routing Engine.

C. The forwarding table consolidates routes from multiple sources.

D. The forwarding table is populated with active routes from the routing table.
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Actual exam question from Juniper's JNO-104
Question #: 59

Topic # 1

[All JNO-104 Questions]

r
inet.0: 20 destinations, 21 routes (20 active, 0 holddown, 0 hidden)

+ = Active Route, - = Last Active, * = Bot
10.10.102.0/30 *[Static/5] 00:00:07
to 10.10.4.2 via ge-0/0/2.0

[OSPF/10] 00:06:32, metric 2
Referring to the exhibit, which statement is correct?

A Traffic destined to 10.10.102.0/30 will be forwarded to 10.10.4.2.

B. Traffic destined to 10.10.102.0/30 will be silently dropped.

C. Traffic destined to 10.10.102.0/30 will be forwarded to 10.10.101.1.

D. Traffic destined to 10.10.102.0/30 will be load-balanced across both next hops.
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Actual exam question from Juniper's JN0-104
Question #: 60
Topic #: 1

[All JNO-104 Questions]

user@router# show protocols isis display set

set protocols isis traceoptions file is-is-logs.log

et protocols isis traceoptions flag hello

set protocols isis traceoptions flag packets

set protocols 1sis traceoptions flag norma

set prot ls isis level 1 disable

set protocols isis interface ge-0/0/0.0 point-to-point

You are capturing logs to troubleshoot an issue with IS-IS; however, the logs are Increasing In size too quickly. Referring to the exhibit, which configuration statement
would solve this problem?

A. delete protocols isis traceoptions flag normal
B. set protocols isis traceoptions flag hello detail
C. delete protocols isis traceoptions file is-is-logs.log

D. set protocols isis traceoptions file files 10
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Actual exam question from Juniper's JNO-104
Question #: 61

Topic # 1

[All JNO-104 Questions]
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unknown command

You are troubleshooting a routing issue on a device running Junos. You receive the error shown in the exhibit when you attempt to restart the routing process.
Which statement describes the problem?

A You have typed an invalid command.
B. You do not have permission to restart the routing process.
C. The routing process can only be restarted from configuration mode.

D. The routing process must be restarted from the shell.
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Actual exam question from Juniper's JNO-104
Question #: 62

Topic # 1

[All JNO-104 Questions]

A device receives a route update for network 172.19.0.0/16 from two different routing information sources. In this scenario, which parameter will determine the active
route?

A. the route learned with the lowest default route preference
B. the route with the lowest metric
C. the route learned from the next hop with the lowest IP address

D. the route learned from the next hop with the highest IP address
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Actual exam question from Juniper's JN0-104
Question #: 63
Topic #: 1

[All JNO-104 Questions]

You just received a new factory-default Junos device. Which two steps must be completed to connect and log in to the device? (Choose two.)

A. Log in with the user root and password of root123.
B. Connect to the device using an SSH connection.

C. Connect to the device using the console connection.

D. Log in with the user root and no password.
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Actual exam question from Juniper's JN0-104
Question #: 64
Topic #: 1

[All JNO-104 Questions]

What are two benefits of class of service (CoS)? (Choose two.)

A. CoS can increase the performance of a slow network.
B. CoS can manage traffic congestion.

C. CoS can increase network bandwidth.

D. CoS can prioritize latency-sensitive traffic.
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Actual exam question from Juniper's JN0-104
Question #: 65
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[All JNO-104 Questions]

You are asked to configure a Junos device to perform regular configuration backups. Which feature will you configure under the [edit system] hierarchy to accomplish
this task?

A. syslog
B. backup-router
C. tracing

D. archival
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Actual exam question from Juniper's JNO-104
Question #: 66

Topic # 1

[All JNO-104 Questions]

[edit firewall family inet filter input-£ff]
user@router# show

term else

(T

-accept |
then {
count outbound-accepted;

accept;

e
IR .

erm discard-outbound-traffic
from |{

source-address {

A packet destined to the 172.27.102.65 IP address is received by the ge-0/0/1.0 interface on your Junos device. The input firewall filter shown in the exhibit is applied to
the ge-0/0/1.0 interface. Which two actions are performed in this scenario? (Choose two.)

A. The packet is logged.
B. The packet is discarded.
C. The packet is accepted.

D. The packet is counted.
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Actual exam question from Juniper's JNO-104
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Which output displays that the peer has been selected for NTP synchronization?
A
o . shaw Bl . il 2 & o
reamote refia St €t when poll reacr delay DEfset Jltter
B.
= i e £ P aASE all
- - afid - whe “a &ala {{sa jTLa
C.
Sare: t 5 W ntp asscociations
emcre afid whe &a iela ffse itce
D.
- & ahaw BEE oo 2t & an
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